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Note: -You have four choices foiuch objective type question as A, B, C and D. The choice which you think Is correct; fiit that circle in front of that
question number In your answer book. Use marker or pen to fiil the circles. Cutting or filling up two or more circles wili resuit no mark.

Q.1 QuestionL Iy A B c D
- J¥|x-3|=5
: | 62 | (a3 | 83 (8.2}
Solution of [x—3|=5Is:
_q_h‘,yd' ¥x?=1 :
2 , {1} {1} {} -1}
Solution setof x° =1 is
) q,b'zurf UUZJUZ—JJ"
3. 90° 180° 270° 360°
The sum of angles of a triangle is:
-d Lﬂ&‘:ﬁ‘(—»‘éj
4. 0 1,0 o, 0,0

The co-ordinates of the prigin are:

1N

wy (AB)'l L LA

5- ~ A-—l B~l B~1A—l A-—IB-I
In matrlces(AB) "is equal to:
U Lﬂg'—(hé.af’ £ /4)9.0-40 Bh Bhg A
8.
The medians of triangle pre: concurrent collinear non-collinear four
Je O U ISt ibesd s 73 V) AU
7.
An arc greater than a semi-circle is called: minor arc chord diameter major arc
L. LUTune# SR L S o s
v 15 1 a+b+c
8. ‘H}”J o E-bh bh ) Js(s -a)(s-b)(s—c)
Area of a triangle when ail the three sides are
given is:
= i . fao | . .
4—(3/( i o -,Jb'u’ S Lgc)/b’u B 25 ol HK d,,
9. [ The number of rows and|columns in a matrix
order rows columns determinant
determine its:
10. | @ —3ab(a-b)-b>=1 Y (a+bd)’ & -5 (a-b)’

Lo 6AG(x+3)"~4

. ) (x+1)(x+5) (x—l)(x+5) (x+1)(x—5) (x—l)(x-S)
Factorization of (x+3)7—4 Is:
_4»-4153 \/-(; = a% [ﬂ Yy 1
12. 0 5
\/Z = a% is a surd of orger. L . 2
(] U}.'-)LL/ #F Ik
13 & r f‘ 4 1 2 3
The Number of methodsi|to find H.C.F is/are:
i AL KIS A1
. Ll 4 HCF LCM HCFxLCM | HCF+LCM
Product of two expressions is equal to:
-4.?174151»’:4!:(/(? U el
15. 2 1 0 3

A linear equation in one yariable is of a degree:
i 111-221-A-10000 K%
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Note:- Section I is compulsory. Afttempt any three (3) questions from Section I1.

vil.

viil.

vi.

vii.
viil,

Write short answers tb any six parts.

Rationalize the denominators.

Simplify.

Reduce the rational ex

It p(x)=x*+3x"-5%+9,thenfind p(x)forx=0

Find H.C.F by factorization.

Find L.C.M by factorization.

Find square root.

“_n

Find angles “a” and “b”

if AABC = AFDE ther find:

Write short answers t# any six parts.
Factorize.
Factorize.
Factorize.

Solve.
Soive.

Solve.

Solve.

The diagonal of a squate is 14cm. Find its area.

Find the volume of a cupe of a side 4cm.

Write short answers
Solve by factorization method.

any six parts.

Solve by factorization method.

Find the additive inversg.

Find the matrix product

Find the determinant.

If B:B Z} then find (BB -34)

Draw a triangle ABC i which

Draw a semi-circle with diameter 4cm and centre at “0”.

Find the distance betwéen the given points.

ression to lowest term.

mBC = 5.4cm,m2§ =4.3cm and mAC =3.9cm

(Section-1 JII.‘D)

(6x2=12) E e FLlangeds 2

%:—:g ELPy

(7“/5)(5 +‘/5) EE
1—2% P FiES

,Z".{(}"J(fp(x)z‘fx=0inp(x)=x4+3x2——5x+9/l v
,21{(}"' (" e & sLl$f v
I S [ENS R R

3x°y%, 12x%y*, 15x°)°
21a*x’y, 35a°x*y, 28a°xy*

16x* + 24xy + 9y ey i
- s
EK -éf}"u.’o’ bl aph i
4B ="
g _Eep'ia AABC=AFDE /i i
mAC =2
(6x2=12) L g B Lange s 3
& +a-3a* -3 T A
x*~9x-90 Esx i
1-343%° EeE i
3(x-2)<2x+1 HFy o
2x+1
x+S5 . 'éJ v
VZx—1= ES i
Jx+1)=5 S i
EP INS s Ve, il

sl WS E B SL ix

(6x2=12) | -é; /..-,w:/""&tzfgé.él A
(2x+1)(5x~4)=0 ESasLsq
35=243 ESLsL8E
W

-Z‘.é(}" w Sl v

_é(}” 3;’ Y,

oA (3B-34)9n B=[Z Z] A i
VS bl ABC o
Etatba s L O ras“ 0" 1)
_é()” Qs e i
&idw

(_13 3):(—2’_ 1)
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5.(a)

(b)

8.(a)

®

7.(a)

()]

8.(a)

(b

9.(a

)]

wOLUVII — k1 jirla™ w L-q '— L'
U+4=8)  AANLr g sehizLtiref 37

Attempt any three questions. Each question carries Eight marks. (4+4=8)

g
Yo

If x=2+\/§then find the value of x* +;17 -é(}"cfgéxz +;12— ]ﬂx=2+\/§fl
Find the square root of: 4x* +12x° +25x% +24x+16 _af;f‘»)”é/b;g
Factorize. x'? -y EuA
If M=E ﬂ then find MM ™ ,é(}”MM" ?M=E j:l/l
Solve. J2x—-1-+x-4=2 -ééd'
Find two consecutive positive even numbers such that the -4-184 AU, LS ‘éff’ sl c/’z"dj/ iy

sum of their squares is 164.
_E2L84L U1 mAB=mBC =mAC = Sem S S &t ABC &P Ll
Draw an equilateral A4BC in which mAB =mBC =mAC =5cm and draw its altitudes.
28BS LTS P U N T B 184 NN

The area of a paralielogram is 144cm” . Find the altitude if the base is 2cm long.

Solve using matrix inversion method. Fo-y=10 ,éd’c}_{)&.jb’dﬁ'
2x+3y=3

Show that the points 4(2,4), B(6,2)and C(4,3)are collinear.  _tstisi C(4,3) » B(6,2)- A(2,4) oSt

111 - 221-A-10000

(a).5

(b)

(a).6

(b

(a).7

(b)

(a).8

(b)

(a).9

(b)
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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle In front of that
question number in your answer book. Use marker or pen to fili the circles. Cutting or filling up two or more circles will result no mark.

Q.1 Questions /=iy A B C D
,+8wﬁﬂ;zﬁz(ﬁd"afb’u’~.‘}’¢t Ju‘flx’id;l}’ A welissie & i =4 JCW!J
1.
A triangle with no equal $ide is called: isosceles triangle | equilateral triangle | right angled triangle scalene triangle

-dr'.h‘ﬂ,;i./b/f}f 'r’u"»b/u{ajb

2 2 2
2. wr r 2wy 'r
Area of a circle with radiys 'r'is:

SO OV STV NS B F s Bl bhoF S AT B
3.
The angle bisectors of a {riangle are: collinear concurrent perpendicular non-concurrent
_q,anof.’éééf.b 'Lﬁéuutéjiz o o & i
4,
A point in the 4" quadrant has its ordinate: positive zero negative one
b ik 1 1
5. 12 --xlxb ——xlxb Ixb
Area of a rectangle is: 2 3.
O Unl iUl LS L0 ¥ &5 L 3 Lwinsi &
6.
A polygon with four equal|sides is called: square polygon paralielogram rectangle
@ Bﬂdidﬁ/ﬂi&y o
7 37 b A s
7. | Points on the negative X - axis have
ordinate abscissa value fraction
negative:
_q,amw' .fu:ﬁﬂw(,f:cyf‘ VQ
8 1 2 3 4
The number of medians in a triangle is:
9. | @ +3ab(a+b)+b’ =2 (a+b) (a-b) &+ & b

443}:;5;’6 X -y
10. ( ) ("‘—}’)(9‘2 +}’2) (x—y)(xz +xy+y’) (x—y)(x’ —xy+y’) (.1c+y)(:c2 +xy+y2)
Factorization of (x3 - y’) 18

_4.33' 154 15grs .1 6 pgr
1. 3pgrs 3pgr 3gr 15pgrs
H.C.F of 6 pgr and 15gr§is:

e bbls WA S xsn s
12. | For each number x the ahsolute value of X —x zero |x{

X is denoted by:

o SO0y o) (+9) o)

Solution set of x* —9 =0 ik:

,;'r..ba,fd’b’xz =1

. {1} {£1} {4} -1

Solution of x2 =1 is:

AL AL IS0 AL
15. 3 2 Unit (one) zero
In a unit matrix diagonal elbments are:
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Note:~ Section I is compulsory. Agtempt any three (3) questions from Section II,
(Section—1 #1.20)

2, Write short answers tL any six parts. (6x2=12) .4254 Y ONPd Lizigeds .2
-5x+6 y 2 -5x+6

L i p(x )— — 7 [then find (1) o ,é()”p(l)]p(x)=x*+l—ﬁ i
il. Reduce to lowest term. ;y : ;)x ,zéd./;u:‘f’ g7 i
ili.  Solve by formula. (31+2m)’ (31 -2m)’ Sl S i
iv.  Simplify. (7+3)(s+2) EZ
v.  Find H.C.F by factorizagion. 6pqr , 15qrs ,éi‘f(}" /” bS Al v
vi. FindL.C.M. 21a*x’y, 35a°x*y, 284°xy" _é,»}" Siobsts i

_é(}”gf”}(SM MNP v

vii. Find values of P and M

vill.  Find square root. 16x? +24xy +9y* -é(?’ EAug i
13 4
ix. Findvaluesofaandb. % -&‘Er-)"’ =28b sa  .ix
3. Write short answers tq any six parts. (&2=12) _54 P alig Z_Az'l{ééf .3
i. Factorize. @ +a-3a*-3 ~"‘-’é(5ﬂ, N
il. Factorize. ¥ -9x-90 bl Azt Ll
1
lii. Factorize. 8x° . A i
iv.  Evaluate the polynomialfor the value indicated. P(x) x*+5x° ~13x -30, P( 1) é()” JJJ )f & .._»’o" G v
v. Solve. 3x+3(x+1)=69 S o
vi. Solve. 3(x-2)<2x+1 ES o i
vil.  Solve. 3(2x-1)=5(x-1) EJS i
vili.  Find the third side of a rijjht triangle with legs b=5.c=61.a=? b sta .&zérk’d‘rfcvj,,u):;ftr vili
a & b and hypotenuse |c . ’ ’ 173 ¢ silWind 1
ix.  Find the volume of a rectangular box with length 4m, 25.{(}” ,i kUil n /2‘}!{ sl 2301 % AadUS S AUA L ix
breadth 3m and height 2n.
4. Write short answers tojany six parts. (6x2=12) .é{ Falin L.hmg;.éf 4
I Solve by factorization. 3x? —8x-3=0 ESSR A
2
If.  Solve by factorization. 2x = = +3 -éd’ CA 24 i
ill.  Find the determinant of t+ve matrix. F— %J ,aér)” tf;’ K A6 i
11 :
CR]
-3 2{-1 5
iv.  Find the matrix product. [ 4 —1}[—1 3 _] ,éﬁfﬂ” « ALNUAE v
2 3 4 g1 5 2 3 4 01 5
v. WWA4=115 5|, B=|2 3 6|thenfind 34—-4B 3A—4Bé~i§r}”],4= 15 5(,B={23 6[/1 w
493 1 4-2 49 3 1 4-2
vi.  Write the matrices In the form of linear equations. [“; ij”x] = [ 21:] & ui'-:u:‘du]bwj»»ff.,a’b' Vi
vil.  Draw the location of poin{ (—8,—8) on the number plane (iine). (-8,-8) éﬁﬂ:fﬁd-d}’ Goid Vi
viil.  Draw a right angle triangle ABC where mAB = 3cm , UL mBC = dcm 8 mAB = 3em VS é b ABC & ..‘Q viil
mBC = 4cm and right angle at point B . AN A4 B
ix.  Find the distance betweep the given points. (a,-b),(b.—a) _ép"' J‘G(}Lﬁ;b’}ﬁéq’: .ix
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5.(a)

(b)

6.(a)

(b)

7.(a)

)

8.(a)

(b

9.(a)

(b)

¢)

Section—II /9% < WU A>¢'
U+4=8) . AAH L g EoschinLativet < OF

Attempt any three questions. Each question carries Eight marks. (4+4=8)

; ) 3 1,
it x=2-+3 thenfind the value of x* +— oAy o inx=2+3/1
x
1 1 x+2 x—2 ;
i + - = ey
Hraplt x=1 x+1 x*+x+1 x*-x+l1 '4{/
Resolve into factors. y'+4 bl a7

% 8 % 8
- = 1 &% jnB= 1A= /i
3X =24 B,.ééf,“fX;g [4 4}, [_4 1}

2'3 2 -3
Solve the matrix equation for X. 3X -24=BIf A= ,B=

-4 1 4 4
4 4x
Solve, §(2x+3)210—? —éd'
Solve using quadratic formula. 10x* =5x=15 j‘éd’é}y(j,f‘f_u »

S 213 90° uy-»Luimunmm,fscu—"ua"&uf g’.&d—y e
Construct a rectangle whose two adjacent sides measure 5cm and 4cm and their included angle is90°.

Find the area of the right triangle with legs 12cm and 35cm. 7735 512 C,M”Lu’-'zé()” SN i 26

Solve the simultaneous equations by the matrix inversion method. ,céd’ e pl AU f’ FUTBlas A

Show that the points 4(2,4), B(6,2) and C(4,3) are collinear. L85 4 C(4,3) 4 B(S, 2).A(2,4) 15.S

112-221-A-~14000

(a).5

(b)

(a).8

®)

(a.7

(b)

(a).8

()

(a).9

(b




